
Parameter B ≤ 0.234
gini = 0.5

samples = 2000
value = [1000, 1000]
class = Background

Parameter A ≤ -0.533
gini = 0.263

samples = 977
value = [152, 825]

class = Signal

True

Parameter A ≤ 1.452
gini = 0.284

samples = 1023
value = [848, 175]

class = Background

False

gini = 0.0
samples = 76
value = [76, 0]

class = Background

Parameter B ≤ 0.05
gini = 0.154

samples = 901
value = [76, 825]

class = Signal

Parameter B ≤ -0.199
gini = 0.069

samples = 726
value = [26, 700]

class = Signal

Parameter A ≤ 1.414
gini = 0.408

samples = 175
value = [50, 125]

class = Signal

Parameter B ≤ -0.215
gini = 0.012

samples = 488
value = [3, 485]
class = Signal

Parameter A ≤ 1.399
gini = 0.175

samples = 238
value = [23, 215]

class = Signal

gini = 0.009
samples = 468
value = [2, 466]
class = Signal

gini = 0.095
samples = 20
value = [1, 19]
class = Signal

gini = 0.27
samples = 143

value = [23, 120]
class = Signal

gini = 0.0
samples = 95
value = [0, 95]
class = Signal

Parameter A ≤ 0.697
gini = 0.496

samples = 110
value = [50, 60]
class = Signal

gini = 0.0
samples = 65
value = [0, 65]
class = Signal

gini = 0.092
samples = 62
value = [3, 59]
class = Signal

gini = 0.041
samples = 48
value = [47, 1]

class = Background

Parameter B ≤ 0.562
gini = 0.172

samples = 937
value = [848, 89]

class = Background

gini = 0.0
samples = 86
value = [0, 86]
class = Signal

Parameter A ≤ -0.395
gini = 0.359

samples = 315
value = [241, 74]

class = Background

Parameter B ≤ 0.627
gini = 0.047

samples = 622
value = [607, 15]

class = Background

gini = 0.0
samples = 120
value = [120, 0]

class = Background

Parameter A ≤ 0.365
gini = 0.471

samples = 195
value = [121, 74]

class = Background

gini = 0.123
samples = 76
value = [5, 71]
class = Signal

gini = 0.049
samples = 119
value = [116, 3]

class = Background

Parameter B ≤ 0.626
gini = 0.203

samples = 61
value = [54, 7]

class = Background

Parameter B ≤ 0.871
gini = 0.028

samples = 561
value = [553, 8]

class = Background

gini = 0.18
samples = 60
value = [54, 6]

class = Background

gini = 0.0
samples = 1
value = [0, 1]
class = Signal

gini = 0.059
samples = 263
value = [255, 8]

class = Background

gini = 0.0
samples = 298
value = [298, 0]

class = Background


